
L’apparato	
  urinario	
  



Le	
  funzioni	
  dell’apparato	
  urinario:	
  
	
  
•  mantenimento	
  equilibrio	
  idrico;	
  
•  mantenimento	
  osmolarità;	
  
•  regolazione	
  concentrazione	
  ele5roli6;	
  
•  mantenimento	
  volume	
  plasma6co;	
  
•  mantenimento	
  equilibrio	
  acido-­‐base;	
  
•  escrezione	
  prodo:	
  scarto	
  metabolismo;	
  
•  escrezione	
  sostanze	
  estranee;	
  
•  produzione	
  renina;	
  
•  produzione	
  eritropoie6na.	
  
	
  



I	
  liquidi	
  corporei	
  



Il	
  rene	
  
Passa	
  il	
  20-­‐25	
  %	
  della	
  gi5ata	
  
cardiaca	
  :	
  500-­‐600	
  mL/min.	
  di	
  
sangue.	
  



Il	
  nefrone:	
  	
  
unità	
  funzionale	
  di	
  filtrazione	
  e	
  di	
  formazione	
  dell’urina	
  



Le	
  componen6	
  del	
  nefrone:	
  

1.	
  La	
  componente	
  vascolare	
  
2.	
  La	
  componente	
  mista	
  
3.	
  La	
  	
  componente	
  tubulare	
  



1.	
  La	
  componente	
  vascolare	
  



2.	
  La	
  componente	
  mista	
  



Dei	
  180	
  l/giorno	
  di	
  filtrato	
  solo	
  	
  
1.5	
  l/giorno	
  

viene	
  eliminato	
  come	
  urina	
  

3.	
  La	
  componente	
  tubulare:	
  	
  
dalla	
  capsula	
  di	
  Bowman	
  al	
  do5o	
  colle5ore	
  



La	
  formazione	
  dell’urina	
  



ESCREZIONE	
  URINARIA	
  	
  

1.   Filtrazione	
  glomerulare	
  	
  
2.   Riassorbimento	
  tubulare	
  

3.   Secrezione	
  tubulare	
  



1.	
  Filtrazione	
  glomerulare	
  



 

Il	
  corpuscolo	
  renale	
  o	
  di	
  Malpighi	
  

2.000.000	
  di	
  nefroni	
  
1	
  m2	
  di	
  superficie	
  
	
  
Velocità	
  
di	
  filtrazione	
  glomerulare	
  
GFR	
  (glomerular	
  filtra,on	
  rate)	
  
120	
  ml/min	
  
	
  
180	
  l/giorno	
  volume	
  filtrato!	
  



Le	
  barriere	
  di	
  filtrazione	
  



La	
  composizione	
  dell’ultrafiltrato	
  



PNF	
  =	
  (PG	
  +	
  πc)	
  -­‐	
  (PC	
  +	
  πg)	
  =	
  10	
  mmHg	
  
	
  

PG	
  =	
  50	
  mmHg	
  
πG	
  =	
  25	
  mmHg	
  	
  
PC	
  =	
  15	
  mmHg	
  

πC	
  =	
  0	
  

 

La	
  pressione	
  di	
  filtrazione	
  (PNF)	
  



La	
  vasocostrizione*	
  dell’arteriola	
  
afferente	
  riduce	
  la	
  PG	
  
con	
  la	
  conseguente	
  riduzione	
  della	
  
velocità	
  di	
  filtrazione	
  glomerulare	
  
(VFG)	
  

La	
  vasodilatazione*	
  dell’arteriola	
  
afferente	
  aumenta	
  la	
  PG	
  
con	
  il	
  conseguente	
  aumento	
  della	
  
velocità	
  di	
  filtrazione	
  glomerulare	
  
(VFG)	
  

L’arteriola	
  afferente	
  controlla	
  la	
  velocità	
  di	
  filtrazione	
  glomerulare	
  

(*controllo	
  locale,	
  nervoso	
  e	
  ormonale)	
  



La	
  gran	
  parte	
  dell’ultrafiltrato	
  viene	
  riassorbito	
  (circa	
  il	
  99%)	
  



Modalità	
  di	
  trasporto	
  dei	
  soluM:	
  
-­‐  Trasporto	
  passivo	
  
-­‐  Trasporto	
  a:vo	
  primario	
  o	
  secondario	
  

Modalità	
  di	
  trasporto	
  dell’acqua:	
  
-­‐  Per	
  gradiente	
  osmo6co	
  
-­‐  Per	
  inserzione	
  di	
  acquaporine	
  

2.	
  Il	
  riassorbimento	
  



Tubulo	
  contorto	
  prossimale	
  

Acqua	
  	
  
(gradiente	
  osmo6co	
  e	
  acquaporine)	
  
	
  
NaCl	
  
(pompa	
  K+/Na+	
  ATPasica)	
  
	
  
Bicarbonato	
  (scambiatore	
  Na+/H+)	
  
controllo	
  pH	
  
	
  
Fosfato	
  inorganico	
  
(simpor6	
  Na+)	
  
	
  
Monosaccaridi	
  
Amminoacidi	
  
Proteine	
  (albumina)	
  
Urato	
  
UREA	
  
e	
  secrezione	
  di	
  NH4

+	
  



Ansa	
  di	
  Henle	
  

Riassorbimento:	
  
	
  
traPo	
  discendente	
  (assenza	
  sistemi	
  	
  
di	
  trasporto	
  a:vi)	
  
H2O	
  
	
  
traPo	
  ascendente	
  
NaCl	
  	
  
(simporto	
  NKCC	
  Na+/K+/2	
  Cl-­‐)	
  
K+	
  
(ROMK)	
  
CaR	
  
IMPERMEABILE	
  ALL’H2O	
  



Meccanismo	
  
di	
  molMplicazione	
  
contro	
  corrente	
  



Tubulo	
  distale	
  

Riassorbimento:	
  
	
  
NaCl	
  	
  
Ca2+	
  
H2O	
  (azione	
  ADH) 



DoS	
  collePori	
  

Riassorbimento	
  NaCl	
  e	
  H2O	
  regolato	
  da	
  
ALDOSTERONE	
  (aumenta	
  ENaC)	
  	
  
PEPTIDE	
  NATIURETICO	
  (diminuisce	
  ENaC)	
  
ANTIDIURETICO	
  (AQP2)	
  

Cellule	
  principali	
  
Cellule	
  intercalate	
  di	
  ,po	
  A	
  

Cellule	
  intercalate	
  di	
  ,po	
  B	
  

Secrezione	
  H+	
  

Secrezione	
  HCO3
-­‐	
  



La	
  liberazione	
  dell’ormone	
  an6diure6co	
  (ADH)	
  
avviene	
  in	
  risposta	
  a:	
  
-­‐	
  riduzione	
  volume	
  ema6co	
  
-­‐	
  riduzione	
  pressione	
  sanguigna	
  
-­‐	
  aumento	
  osmolarità	
  
	
  
Il	
  target	
  dell’ADH:	
  
-­‐  le	
  cellule	
  del	
  tubulo	
  distale	
  
-­‐  le	
  cellule	
  del	
  do5o	
  colle5ore	
  
	
  
Il	
  riassorbimento	
  avviene	
  per:	
  
-­‐  inserzione	
  acquaporine	
  
-­‐  inserzione	
  trasportatori	
  dell’urea	
  

Regolazione	
  ormonale	
  del	
  riassorbimento	
  dell’H2O	
  	
  


